“1/GeVA

tbar

Pr

1/od?cs/ d mMd

Ratio to ATLAS

104

107>

107°

1077

[EEY

0.5

13000 GeV pp tt

S L L B I e e e B

| . o

- M(ttbar) (ATLAS semileptonic ttbar) 13

— =

—  m ATLAS J&

[ --0-- Pythia 6.428 345 n

O Pythia 6.428 346 43

| —#— Pythia 6.428 370 15

Pythia 6.428 default D

e P308 default |z

B ‘ 1=

™

<

L — ™M

S

o

(49)

—

— X

~ K

B 1s

- =

(]

o 3!

)

15

o

I _lo

S S S U IR T = b

— -2

B A 11
| —0.5

1 " 1 | " 1 " 1 1 " 1 " | " 1 " 1 " 1 " 1 " |
1000 2000 3000

m [GeVv], pthaf{t} in [0,40] [GeV]



	Contents
	Page 1


